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Kropki Loop by Prasanna Seshadri

Theme: Anti-symmetry

Rules: Draw a single closed loop that passes vertically and horizontally through all
cells. The loop must go through all of the given dots. When passing through a white
dot, the number of cells on one side of the dot

before turning must differ by 1 from the number | ST S A I N s B
of cells on the other side before turning. When

passing through a black dot, the number of cells
on one side of the dot before turning must be
twice the number of cells on the other side
before turning. (Not all possible dots are given;
if a line crosses two dots, ignore the other dot and count cells as if it is not there.)
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